Name	Hole-In-One Amount	Magic Hole Amount	Low Gross Amount	Low Net Amount	Total Payout Amount	Times Played	Total Entry Fees	Net Due To LP	Net Due To Member
Abner, Shelly	\$4.00	\$0.00			\$4.00	2	\$4.00		
Abramson, Susan	\$2.00	\$0.00			\$2.00	1	\$2.00		
Adams, Erin	\$12.00	\$0.00	\$5.00		\$17.00	2	\$4.00		\$13.00
Aglione, Janet	\$6.00	\$0.00			\$6.00	5	\$10.00	\$4.00	
Albano, Charlene	\$0.00	\$0.00			\$0.00	2	\$4.00	\$4.00	
Allen, Alvarita	\$10.00	\$0.00		\$5.00	\$15.00	5	\$10.00		\$5.00
Alt, Deb	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Anderson, Bobbie	\$2.00	\$0.00			\$2.00	1	\$2.00		
Anderson, Jan	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Archibald, Susan	\$2.00	\$0.00			\$2.00	4	\$8.00	\$6.00	
Arkema, Gayle	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Armstrong, Terersa	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Arrington, Kathleen	\$6.00	\$0.00			\$6.00	5	\$10.00	\$4.00	* 0.00
Baran, Gerri	\$14.00	\$0.00			\$14.00	4	\$8.00		\$6.00
Barbour, Vicki	\$20.00	\$0.00			\$20.00	5	\$10.00	**	\$10.00
Barnett, Janet	\$2.00	\$0.00	#5.00	#F.00	\$2.00	2	\$4.00	\$2.00	#0.00
Bartlett, Rita	\$8.00	\$0.00	\$5.00	\$5.00	\$18.00	5	\$10.00		\$8.00
Bastien, Kristy	\$6.00	\$0.00			\$6.00	3	\$6.00	* 4 00	
Batchelder, Sherry	\$6.00	\$0.00			\$6.00	5	\$10.00	\$4.00	
Beem, Patricia	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	# 1.00
Benson, Gail	\$14.00	\$0.00			\$14.00	5	\$10.00		\$4.00
Benson, Yvonne	\$6.00	\$0.00			\$6.00	3	\$6.00		
Berg, Eileen	\$6.00	\$0.00		A= 00	\$6.00	3	\$6.00		044.00
Bertrand, Ruthie	\$14.00	\$0.00	A	\$5.00	\$19.00	4	\$8.00	.	\$11.00
Bigler, Renee	\$0.00	\$0.00	\$5.00	A.	\$5.00	3	\$6.00	\$1.00	
Billeri, Maryanne	\$4.00	\$0.00		\$5.00	\$9.00	5	\$10.00	\$1.00	* = **
Bittner, Peggy	\$8.00	\$0.00		\$5.00	\$13.00	4	\$8.00		\$5.00
Blowe, Martha	\$4.00	\$0.00		\$10.00	\$14.00	5	\$10.00		\$4.00
Borene, Linda	\$18.00	\$10.00		\$5.00	\$33.00	5	\$10.00		\$23.00
Borst, Rosalie	\$8.00	\$0.00			\$8.00	3	\$6.00		\$2.00
Bowman, Linda	\$4.00	\$10.00			\$14.00	5	\$10.00		\$4.00
Brenner, Diane	\$10.00	\$0.00			\$10.00	5	\$10.00		
Brinkman,Gaile	\$6.00	\$0.00			\$6.00	3	\$6.00		* 40.00
Brown, Janet	\$6.00	\$10.00			\$16.00	2	\$4.00	00.00	\$12.00
Buccelli, Jennie	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Buckman, Carol	\$8.00	\$0.00		# 40.00	\$8.00	3	\$8.00		#40.00
Burke, Sue	\$8.00	\$0.00		\$10.00	\$18.00		\$6.00		\$12.00
Burnett, Joan	\$6.00 \$2.00	\$0.00 \$0.00			\$6.00 \$2.00	2 1	\$4.00 \$2.00		\$2.00
Cameron, Heidi M									£2.00
Campbell, Deborah	\$10.00 \$16.00	\$0.00 \$0.00			\$10.00 \$16.00	4	\$8.00 \$8.00		\$2.00
Cappello, Connie	\$10.00	\$0.00				4			\$8.00
Caraco,Barbara Carlson, Gloria	\$6.00	\$0.00	\$5.00	\$5.00	\$10.00 \$16.00	5	\$8.00 \$10.00		\$2.00 \$6.00
Carlson, Susan	\$0.00	\$0.00	φ5.00	ψ3.00	\$0.00	3	\$6.00	\$6.00	φ0.00
Canson, Susan Caruso, Helen	\$10.00	\$0.00			\$10.00	2	\$4.00	\$6.00	\$6.00
Cary, Janice	\$10.00	\$0.00	\$5.00		\$10.00	5	\$10.00		\$9.00
Chaney, Diane	\$6.00	\$10.00	ψ5.00		\$16.00	5	\$10.00		\$6.00
Charnock, Debbie	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	\$0.00
Chinchak, JoAnn	\$2.00	\$0.00		\$5.00	\$7.00	4	\$8.00	\$1.00	
Chozen, Terry	\$4.00	\$0.00		ψ3.00	\$4.00	4	\$8.00	\$4.00	
Clark, Becky	\$4.00	\$0.00		\$10.00	\$14.00	3	\$6.00	ψ4.00	\$8.00
Clark, Susan	\$2.00	\$0.00		ψ10.00	\$2.00	3	\$6.00	\$4.00	ψ0.00
Cohen, Ruthie	\$6.00	\$0.00			\$6.00	3	\$6.00	ψ4.00	
Cohn, Susan	\$6.00	\$0.00			\$6.00	3	\$6.00		
Cook, Jillene	\$2.00	\$0.00		\$5.00	\$7.00	3	\$6.00		\$1.00
Cooney, Ruth	\$6.00	\$10.00		ψυ.υυ	\$16.00	3	\$6.00		\$10.00
Cooper, Rochelle	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	ψ10.00
Cooper, Rodrielle Cooper, Linda	\$0.00	\$0.00			\$0.00	4	\$8.00	\$8.00	
Cote, Joan	\$10.00	\$0.00			\$10.00	5	\$10.00	\$5.55	
Cronkrite, Sharon	\$6.00	\$0.00			\$6.00	3	\$6.00		
Daiker, Nancy	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Dampf, Marcia	\$12.00	\$10.00	\$5.00	\$5.00	\$32.00	5	\$10.00	Ψ2.00	\$22.00
David, Patricia	\$6.00	\$10.00	ψυ.υυ	ψυ.υυ	\$16.00	3	\$6.00		\$10.00
Davidow, Laura	\$12.00	\$10.00			\$22.00	3	\$6.00		\$16.00
Davidson, Pamela	\$4.00	\$10.00			\$14.00	4	\$8.00		\$6.00
Davig, May	\$6.00	\$0.00	\$5.00		\$11.00	5	\$10.00		\$1.00
Davis, Cheryl	\$2.00	\$0.00	ψο.σσ		\$2.00	4	\$8.00	\$6.00	ψσσ
DeGrazio, June	\$8.00	\$0.00		\$10.00	\$18.00	3	\$6.00	+0.00	\$12.00
Dennis, Lynn	\$0.00	\$0.00		ψ.0.00	\$0.00	3	\$6.00	\$6.00	Ţ. <u>Z.</u> .00
Donofrio, Gina (D)	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	
Duex, Diana	\$6.00	\$0.00		\$5.00	\$11.00	3	\$6.00	\$2.50	\$5.00
Duncan, Carol	\$0.00	\$0.00		Ψ0.00	\$0.00	1	\$2.00	\$2.00	ψ0.00
Dyce, Barbara A	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Dyce, Kim	\$2.00	\$0.00			\$2.00	5	\$10.00	\$8.00	
Dyson, Gloria	\$8.00	\$10.00			\$18.00	5	\$10.00	ψο.σσ	\$8.00
Eberhart, Sybil	\$6.00	\$0.00		\$5.00	\$11.00	4	\$8.00		\$3.00
Looman, Oyon	ψ0.00	ψυ.υυ		ψυ.υυ	ψ11.00	-	ψυ.υυ		ψ5.00

Name	Hole-In-One Amount	Magic Hole Amount	Low Gross Amount	Low Net Amount	Total Payout Amount	Times Played	Total Entry Fees	Net Due To LP	Net Due To Member
Ellis, Connie	\$4.00	\$10.00	7 unoun	\$5.00	\$19.00	5	\$10.00	i	\$9.00
Endicott, Maryjon	\$0.00	\$0.00		*	\$0.00	1	\$2.00	\$2.00	*
Espedal, Lonna	\$2.00	\$0.00			\$2.00	3	\$6.00	\$4.00	
Faller, Michele	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	
Fenn, Becky	\$0.00	\$0.00			\$0.00	2	\$4.00	\$4.00	
Fillinich, Peg	\$0.00	\$0.00			\$0.00	4	\$8.00	\$8.00	
Finberg, Brenda	\$8.00	\$0.00			\$8.00	1	\$2.00		\$6.00
Folken, Darlene	\$12.00	\$0.00		\$5.00	\$17.00	3	\$6.00		\$11.00
Forsen, Debbie	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Fossey, Tracey	\$2.00	\$0.00			\$2.00	1	\$2.00		
Foster, Sherry	\$8.00	\$0.00			\$8.00	4	\$8.00		
Freitas, Eileen	\$4.00	\$0.00	\$5.00		\$9.00	3	\$6.00		\$3.00
Friedermann, Marilyn	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Friscia, Sarah	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Froehle, Suzanne (D)	\$4.00	\$0.00		\$5.00	\$9.00	4	\$8.00		\$1.00
Funk, Martha (Marty)	\$2.00	\$0.00		·	\$2.00	2	\$4.00	\$2.00	
Gaebe,Bobbie	\$6.00	\$0.00			\$6.00	2	\$4.00		\$2.00
Gainey, Kathy	\$0.00	\$0.00			\$0.00	2	\$4.00	\$4.00	*
Garvin, Barbara	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Geck, Gretchen	\$4.00	\$0.00			\$4.00	4	\$8.00	\$4.00	
Giannini, Kathy	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	
Gibson, Joan	\$20.00	\$10.00	\$20.00		\$50.00	5	\$10.00	Ψ2.00	\$40.00
Gill,Mary Ann	\$0.00	\$0.00	Ψ20.00		\$0.00	1	\$2.00	\$2.00	ψ-τυ.υυ
Gilleland, Karen	\$6.00	\$0.00			\$6.00	3	\$6.00	ΨΖ.00	
Goletz, Susan	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	
Gorczyca, Darlene	\$12.00	\$0.00			\$12.00	3	\$6.00	φ∠.∪∪	\$6.00
, ·									φυ.υυ
Gorden, Helena Gordon, Nan	\$4.00 \$6.00	\$0.00 \$0.00	\$5.00		\$4.00 \$11.00	3	\$4.00 \$6.00		\$5.00
/									
Gordon, Nanette	\$10.00	\$0.00	\$5.00	ΦE 00	\$15.00	3 4	\$6.00		\$9.00
Graslie, Barb	\$10.00	\$0.00	\$5.00	\$5.00	\$20.00		\$8.00		\$12.00
Greenwood, Kathy	\$2.00	\$0.00			\$2.00	1	\$2.00		00.00
Greer, Monique	\$8.00	\$10.00			\$18.00	5	\$10.00		\$8.00
Gruhn, Terri	\$14.00	\$10.00			\$24.00	4	\$8.00		\$16.00
Guzaitis, Beverly	\$2.00	\$0.00			\$2.00	3	\$6.00	\$4.00	
Hall, Marsha (Rippeth)	\$8.00	\$0.00			\$8.00	4	\$8.00		
Hall, Michele T	\$14.00	\$10.00	\$5.00	\$5.00	\$34.00	5	\$10.00		\$24.00
Hamlett, Jill	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	
Hancock, Lois	\$4.00	\$0.00			\$4.00	4	\$8.00	\$4.00	
Hansen, Deanna (Dee)	\$14.00	\$10.00			\$24.00	5	\$10.00		\$14.00
Harmount, Debi	\$12.00	\$10.00		\$5.00	\$27.00	5	\$10.00		\$17.00
Hawkins, Carol	\$6.00	\$0.00			\$6.00	3	\$6.00		
Heglin, Mona	\$14.00	\$0.00	\$5.00		\$19.00	4	\$8.00		\$11.00
Heller, Elaine	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Heller, Katherine	\$4.00	\$0.00			\$4.00	2	\$4.00		
Hennessy, Laura	\$12.00	\$0.00	\$5.00		\$17.00	5	\$10.00		\$7.00
Hersch, Candy	\$6.00	\$0.00			\$6.00	3	\$6.00		
Hilgers, Gerri	\$18.00	\$0.00	\$5.00		\$23.00	3	\$6.00		\$17.00
Holcomb, Barbara Ray (D)	\$8.00	\$0.00			\$8.00	4	\$8.00		
Horka, Judy	\$6.00	\$0.00		\$5.00	\$11.00	3	\$6.00		\$5.00
Housman, Melanie	\$2.00	\$0.00		·	\$2.00	2	\$4.00	\$2.00	
Howard, Patricia	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Hunter, Patricia	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Hunter, Susan	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Huntsinger, Judith	\$16.00	\$0.00	\$5.00		\$21.00	5	\$10.00	*	\$11.00
Imper, Kathy	\$2.00	\$0.00	,		\$2.00	3	\$6.00	\$4.00	
Jahnke,Sue	\$6.00	\$0.00	\$5.00		\$11.00	5	\$10.00		\$1.00
James, Janet	\$6.00	\$0.00	Ţ5.55		\$6.00	4	\$8.00	\$2.00	Ţ55
Jepson, Suzanne	\$2.00	\$0.00			\$2.00	1	\$2.00		
Jilek. Marcia	\$4.00	\$0.00			\$4.00	2	\$4.00		
Johannes, Bonnie	\$2.00	\$0.00			\$2.00	1	\$2.00		
Johne, Kim	\$8.00	\$10.00	\$5.00		\$23.00	3	\$6.00		\$17.00
Johns, Sandra	\$0.00	\$0.00	ψ0.00		\$0.00	3	\$6.00	\$6.00	ψ17.00
Johnson, Diana	\$2.00	\$0.00		\$5.00	\$7.00	4	\$8.00	\$1.00	
Johnson, Myrna E	\$2.00	\$0.00		ψυ.υυ	\$2.00	2	\$4.00	\$2.00	
Jones,Susan	\$6.00	\$0.00		\$5.00	\$11.00	5	\$10.00	ΨΖ.00	\$1.00
Jones-Bernhardt, Patti	\$2.00	\$0.00		\$5.00	\$7.00	4	\$8.00	\$1.00	φ1.00
Kaplan, Yvette	\$6.00	\$0.00	\$5.00	φ3.00	\$11.00	3	\$6.00	φ1.00	\$5.00
Karsten,Carol	\$12.00	\$10.00	φ3.00		\$11.00	2	\$4.00		
								#0.00	\$18.00
Kasen, Marilyn Dovey	\$0.00	\$0.00	65.00		\$0.00	1	\$2.00	\$2.00	ФОО ОО
Kasun, Joy B	\$22.00	\$10.00	\$5.00		\$37.00	4	\$8.00	#0.00	\$29.00
Katsuki, JoEllen	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	
Kearney, Kathy	\$2.00	\$0.00			\$2.00	4	\$8.00	\$6.00	
Kelly, Carol	\$0.00	\$0.00			\$0.00	2	\$4.00	\$4.00	
Kelly, Cecelia	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Ketterling, Cindy	\$6.00	\$0.00			\$6.00	5	\$10.00	\$4.00	
King, Victoria	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	

Name	Hole-In-One Amount	Magic Hole Amount	Low Gross Amount	Low Net Amount	Total Payout Amount	Times Played	Total Entry Fees	Net Due To LP	Net Due To Member
Kleibacker, Carol	\$2.00	\$0.00	\$5.00		\$7.00	4	\$8.00	\$1.00	
Klein,Anne M	\$6.00	\$0.00	\$5.00		\$11.00	5	\$10.00		\$1.00
Kolb, Mary	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Kosmicke, Jean	\$4.00	\$0.00	\$5.00		\$9.00	4	\$8.00		\$1.00
Kost, Jullianna	\$4.00	\$0.00			\$4.00	5	\$10.00	\$6.00	
Kowalczyk, Ellen (D)	\$4.00	\$0.00			\$4.00	1	\$2.00		\$2.00
Kraft, Joyce Lynn	\$4.00	\$0.00		\$5.00	\$9.00	3	\$6.00		\$3.00
Kramer, Marsha (Marti)	\$8.00	\$0.00		\$5.00	\$13.00	3	\$6.00		\$7.00
Kubisa, Sharon	\$10.00	\$10.00		\$5.00	\$25.00	4	\$8.00		\$17.00
Kuhar, Jacinta	\$6.00	\$0.00			\$6.00	2	\$4.00		\$2.00
Laundy, Corinne	\$10.00	\$0.00			\$10.00	4	\$8.00		\$2.00
Leininger, Lynda	\$0.00	\$0.00			\$0.00	2	\$4.00	\$4.00	
Leisle, Pam	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	
Lewandowski, Maureen	\$16.00	\$0.00		\$5.00	\$21.00	4	\$8.00		\$13.00
Lewis, Kathy	\$4.00	\$0.00			\$4.00	1	\$2.00		\$2.00
Liebig, Nancy	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Lighterink, Sharon	\$16.00	\$0.00	\$5.00		\$21.00	3	\$6.00		\$15.00
Little, Jane	\$2.00	\$0.00	·		\$2.00	1	\$2.00		
Locker, Roslyn	\$4.00	\$0.00			\$4.00	4	\$8.00	\$4.00	
Loiodice, Elizabeth	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Loos, Georgene	\$6.00	\$0.00			\$6.00	2	\$4.00	\$2.50	\$2.00
Losee, Cindy	\$0.00	\$0.00			\$0.00	2	\$4.00	\$4.00	Ψ2.00
Lyda, Marilyn	\$4.00	\$0.00		\$5.00	\$9.00	5	\$10.00	\$1.00	
MacDonald, Judy	\$2.00	\$0.00		ψυ.υυ	\$2.00	3	\$6.00	\$4.00	
, ,	\$4.00	\$0.00			\$4.00	3	\$6.00	\$4.00	
Mack, Caryl			ØE 00					\$∠.00	#2.00
Madden, Twyla	\$6.00	\$0.00	\$5.00	# F 00	\$11.00 \$11.00	4	\$8.00		\$3.00
Manger, Candace	\$6.00	\$0.00		\$5.00	\$11.00	5	\$10.00		\$1.00
Marker, Janette	\$10.00	\$0.00			\$10.00	5	\$10.00		
Marks, Patti	\$6.00	\$0.00			\$6.00	3	\$6.00		
Marlin, Barbara	\$2.00	\$0.00			\$2.00	1	\$2.00		
Marshall, Alice (Dolly)	\$8.00	\$10.00	\$5.00		\$23.00	5	\$10.00		\$13.00
Martinez, Cynthia	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Matthews, Kristina	\$2.00	\$0.00			\$2.00	4	\$8.00	\$6.00	
McArthur, Shelley	\$8.00	\$0.00		\$5.00	\$13.00	4	\$8.00		\$5.00
McCallister, Sheila	\$8.00	\$10.00			\$18.00	4	\$8.00		\$10.00
McCammon, Debbie	\$0.00	\$0.00			\$0.00	4	\$8.00	\$8.00	
McClure,Leatrice A	\$10.00	\$0.00			\$10.00	5	\$10.00		
McDonald, Bonnie	\$0.00	\$0.00			\$0.00	2	\$4.00	\$4.00	
McGinniss, Trish	\$4.00	\$10.00		\$5.00	\$19.00	3	\$6.00		\$13.00
McManamy, Dodie	\$8.00	\$10.00	\$5.00		\$23.00	5	\$10.00		\$13.00
Merwin, Jan	\$4.00	\$0.00		\$5.00	\$9.00	5	\$10.00	\$1.00	
Metcalf, Dorothy	\$10.00	\$0.00		•	\$10.00	4	\$8.00	·	\$2.00
Miller, Anita	\$8.00	\$0.00		\$5.00	\$13.00	4	\$8.00		\$5.00
Miller, Rhoda	\$0.00	\$0.00		•	\$0.00	1	\$2.00	\$2.00	•
Miller, Trudy (D)	\$2.00	\$0.00			\$2.00	1	\$2.00	, , , , , ,	
Milligan, Lorraine	\$6.00	\$0.00			\$6.00	4	\$8.00	\$2.00	
Misata, Peggi	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Mitchell, Cordaine	\$12.00	\$0.00			\$12.00	4	\$8.00	ψ2.00	\$4.00
Morehouse, Rita J	\$6.00	\$0.00			\$6.00	5	\$10.00	\$4.00	\$ 1.00
Muller, Judy	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Newman, Nancy	\$6.00	\$0.00			\$6.00	5	\$10.00	\$4.00	
Norbury, Joan	\$10.00	\$0.00			\$10.00	3	\$6.00	Ψ+.00	\$4.00
Nordstrom, Bonita	\$0.00	\$0.00			\$0.00	2	\$4.00	\$4.00	Ψ+.00
O'Hare, Maureen	\$16.00	\$0.00	\$5.00	\$5.00	\$26.00	5	\$10.00	ψ4.00	\$16.00
Olmscheid, Voncille	\$4.00	\$0.00	ψ5.00	ψυ.υυ	\$4.00	2	\$4.00		ψ10.00
Olsen, Linda	\$10.00	\$10.00		\$5.00	\$25.00	5	\$10.00		\$15.00
Olson, Cathy	\$6.00	\$10.00		φ5.00	\$25.00	2	\$10.00		\$15.00
Osten, Nancy	\$0.00	\$0.00			\$0.00	4	\$4.00	\$8.00	φ∠.∪∪
					·				
Paradis, Bobbie	\$4.00	\$0.00			\$4.00	5	\$10.00	\$6.00	04.00
Pedersen, Linda	\$10.00	\$0.00			\$10.00	3	\$6.00		\$4.00
Peel, Gretta	\$12.00	\$0.00			\$12.00	3	\$6.00	# 2.22	\$6.00
Penvose, Deb	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Pepin, Phyllis	\$0.00	\$0.00	A		\$0.00	1	\$2.00	\$2.00	4
Pfeiffer, Gina	\$4.00	\$0.00	\$5.00		\$9.00	3	\$6.00		\$3.00
Pfiefer,Anita	\$14.00	\$0.00			\$14.00	4	\$8.00		\$6.00
Piekarski, Mary Beth	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Pires, Christine	\$6.00	\$0.00			\$6.00	3	\$6.00		
Planchon, Virginia	\$2.00	\$0.00			\$2.00	3	\$6.00	\$4.00	
Ponto, Betty	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Pratt, Judy	\$6.00	\$0.00		\$5.00	\$11.00	3	\$6.00		\$5.00
Prebay, Mary	\$2.00	\$10.00			\$12.00	2	\$4.00		\$8.00
Queen, Loretta	\$4.00	\$0.00			\$4.00	2	\$4.00		
Quinn, Debbie	\$4.00	\$0.00			\$4.00	5	\$10.00	\$6.00	
Ransom,Kay	\$10.00	\$0.00		\$5.00	\$15.00	5	\$10.00		\$5.00
Rebsamen, Elaine	\$4.00	\$0.00		,,	\$4.00	1	\$2.00		\$2.00
Rhodes-Brown, Donna	\$2.00	\$0.00	 		\$2.00	3	\$6.00	\$4.00	\$2.00

Name	Hole-In-One Amount	Magic Hole Amount	Low Gross Amount	Low Net Amount	Total Payout Amount	Times Played	Total Entry Fees	Net Due To LP	Net Due To Member
Riley, Karen	\$12.00	\$0.00		\$5.00	\$17.00	3	\$6.00		\$11.00
Rose, Eve M.	\$6.00	\$0.00			\$6.00	3	\$6.00		
Rufener, Kay (Kathryn)	\$4.00	\$0.00	\$5.00		\$9.00	3	\$6.00		\$3.00
Russell,Barbara	\$6.00	\$0.00		\$5.00	\$11.00	5	\$10.00		\$1.00
Ryan, Janeen Ryan, Katie	\$14.00 \$2.00	\$10.00 \$0.00	\$5.00	\$5.00	\$29.00 \$7.00	5 2	\$10.00 \$4.00		\$19.00 \$3.00
Ryel, Martha H.	\$2.00	\$0.00	\$5.00		\$2.00	2	\$4.00	\$2.00	\$3.00
Sagedahl, Carol	\$4.00	\$0.00		\$5.00	\$9.00	5	\$10.00	\$1.00	
Said, Markie	\$6.00	\$0.00	\$5.00	40.00	\$11.00	4	\$8.00	Ţ.i.us	\$3.00
Salute, Lynda	\$10.00	\$0.00			\$10.00	3	\$6.00		\$4.00
Salzwedel, Janet	\$4.00	\$10.00			\$14.00	4	\$8.00		\$6.00
Salzwedel, Marian	\$4.00	\$0.00		\$10.00	\$14.00	2	\$4.00		\$10.00
Sanders, Irene	\$2.00	\$0.00			\$2.00	3	\$6.00	\$4.00	
Santens, Mikey	\$2.00 \$2.00	\$0.00 \$0.00		\$5.00	\$2.00 \$7.00	1 2	\$2.00 \$4.00		\$3.00
Schander, Monica Scheele, Debbie	\$2.00	\$0.00	\$5.00	\$5.00	\$5.00	4	\$8.00	\$3.00	\$3.00
Schermerhorn, Virginia	\$4.00	\$0.00	\$5.00		\$4.00	3	\$6.00	\$2.00	
Schneider, Alisa	\$10.00	\$0.00	\$5.00	\$5.00	\$20.00	3	\$6.00	Ψ2.00	\$14.00
Schott, Denise	\$14.00	\$0.00	\$5.00	\$5.00	\$24.00	4	\$8.00		\$16.00
Scrivner, Jill	\$4.00	\$0.00	*	*	\$4.00	3	\$6.00	\$2.00	
Seibert, Kris	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Sellie, Susan	\$0.00	\$0.00		\$5.00	\$5.00	3	\$6.00	\$1.00	
Shaner, Kathleen	\$0.00	\$0.00			\$0.00	3	\$6.00	\$6.00	
Shaw, Linda	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Shernoff, Marcia	\$10.00	\$0.00		\$5.00	\$15.00	5	\$10.00		\$5.00
Sherwin, Marlene	\$2.00	\$0.00		ФF 00	\$2.00	3 5	\$6.00	\$4.00	
Shipman, Heather Sicora, Phyllis	\$4.00 \$2.00	\$0.00 \$0.00		\$5.00	\$9.00 \$2.00	2	\$10.00 \$4.00	\$1.00 \$2.00	
Simpson, Ramona	\$8.00	\$0.00	\$5.00	\$5.00	\$18.00	3	\$6.00	\$2.00	\$12.00
Smith, Sue	\$0.00	\$0.00	ψ3.00	ψ3.00	\$0.00	1	\$2.00	\$2.00	ψ12.00
Snodgrass, Denise	\$6.00	\$0.00	\$5.00		\$11.00	2	\$4.00	ψ2.00	\$7.00
Soro, Linda	\$2.00	\$0.00	ψο.σσ		\$2.00	4	\$8.00	\$6.00	ψσσ
Sorrell, Loyce	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Sparks, Susan	\$2.00	\$0.00			\$2.00	3	\$6.00	\$4.00	
Spata, Joy	\$8.00	\$0.00	\$5.00		\$13.00	4	\$8.00		\$5.00
Spata, Nancy	\$8.00	\$10.00			\$18.00	3	\$6.00		\$12.00
Sprague, Marilyn	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Starnes, Carol	\$10.00	\$0.00			\$10.00	3	\$6.00	Ø4.00	\$4.00
Stephens, Janet Stockholm, Kay	\$4.00 \$10.00	\$0.00 \$10.00	\$5.00		\$4.00 \$25.00	4	\$8.00 \$8.00	\$4.00	\$17.00
Strickland, Cleo	\$0.00	\$10.00	\$5.00		\$25.00	5	\$6.00 \$10.00	\$10.00	\$17.00
Sutta, Betty	\$4.00	\$0.00			\$4.00	2	\$4.00	ψ10.00	
Swenson, Donna	\$6.00	\$0.00			\$6.00	5	\$10.00	\$4.00	
Tarufelli, Lynda	\$10.00	\$0.00	\$5.00	\$5.00	\$20.00	5	\$10.00	, , , , ,	\$10.00
Taylor, Ginny	\$8.00	\$0.00	\$5.00		\$13.00	5	\$10.00		\$3.00
Teece, Mares	\$2.00	\$0.00			\$2.00	2	\$4.00	\$2.00	
Thier, Linda	\$4.00				\$4.00		\$8.00	\$4.00	
Thompson, Anita	\$2.00	\$0.00	\$5.00		\$7.00	4	\$8.00	\$1.00	
Torr, Heidi Tracy, Michelle	\$0.00	\$0.00		Ф Г 00	\$0.00	2	\$4.00	\$4.00	©0.00
Tucker, Linda	\$14.00 \$12.00	\$0.00 \$0.00		\$5.00	\$19.00 \$12.00	5 3	\$10.00 \$6.00		\$9.00 \$6.00
Tupper, Kathy	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	φ0.00
Turner, Marion	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Vachon, Leni	\$4.00	\$0.00			\$4.00	4	\$8.00	\$4.00	
Valancius, Marcia	\$6.00	\$0.00			\$6.00	2	\$4.00		\$2.00
Valerio, Lillian (Lil)	\$6.00	\$0.00	\$5.00	\$5.00	\$16.00	5	\$10.00		\$6.00
Venditelli, Clarissa	\$4.00	\$0.00			\$4.00	4	\$8.00	\$4.00	
Vincent, Victoria	\$2.00	\$0.00		\$5.00	\$7.00	4	\$8.00	\$1.00	
Waterbly, Mary	\$4.00	\$0.00	\$5.00		\$9.00	4	\$8.00		\$1.00
Weisman, Maddy	\$8.00	\$0.00	\$5.00		\$13.00	4	\$8.00	Ø4.00	\$5.00
Wertz, JoAnne	\$2.00	\$0.00			\$2.00	3	\$6.00	\$4.00	£4.00
Wessel, Jo Weyrich, Sandra	\$10.00 \$4.00	\$0.00 \$0.00			\$10.00 \$4.00	3 2	\$6.00 \$4.00		\$4.00
White, Nancy K	\$0.00	\$0.00			\$0.00	3	\$6.00	\$6.00	
Whittle, Mary Jo	\$4.00	\$0.00			\$4.00	5	\$10.00	\$6.00	
Wilhelm-Powell, Lynn	\$2.00	\$0.00		\$5.00	\$7.00	4	\$8.00	\$1.00	
Williams, Denice	\$4.00	\$0.00		+3.00	\$4.00	3	\$6.00	\$2.00	
Williams, Lorie	\$6.00	\$0.00			\$6.00	2	\$4.00		\$2.00
Wilson, Donna	\$4.00	\$0.00			\$4.00	2	\$4.00		
Winegrad, Launa	\$6.00	\$0.00	\$5.00		\$11.00	4	\$8.00		\$3.00
Winterkorn, Gertrude (Trude)	\$4.00	\$0.00			\$4.00	3	\$6.00	\$2.00	
Wolfe, Naomi K.	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Woloshyn, Jan	\$0.00	\$0.00 \$0.00			\$0.00 \$2.00	5	\$10.00	\$10.00	
Mroopir Linda					352 OO	4	\$8.00	\$6.00	
Wraspir, Linda Wright, Delores	\$2.00 \$6.00	\$0.00	\$5.00	\$5.00	\$16.00	5	\$10.00	 	\$6.00

	Hole-In-One	Magic Hole	Low Gross	Low Net	Total Payout		Total Entry	Net Due To	Net Due To
Name	Amount	Amount	Amount	Amount	Amount	Times Played	Fees	LP	Member
Yex, Dawn	\$0.00	\$0.00			\$0.00	1	\$2.00	\$2.00	
Yost, Gayle	\$4.00	\$0.00			\$4.00	2	\$4.00		
Young, Barbara	\$2.00	\$0.00	\$5.00	\$5.00	\$12.00	5	\$10.00		\$2.00
Zapka, Sue	\$2.00	\$0.00			\$2.00	4	\$8.00	\$6.00	
Zicafoose, Nancy	\$8.00	\$0.00			\$8.00	3	\$6.00		\$2.00